THRISEE

AL C LK
B COD¥EE! | A(##BIA) i b e
]]
R St.1 e EXR-BEE —
—iRIEH _
K& (°C)
1 _XE [KE(CC) =B fE 2 KE A Fiin 18 R
48 g 17.9 15.8 - 23.0 6.0 BE kER-th| &|E
68 Eh 22.3 20.8 - 19.0 4.5 BE kER-h| E|R
8A £ 24.8 24.6 - 18.0 11.0 BE kER-h| E|R
108 Eh 22.9 23.3 - 21.0 4.5 BE kER-E| BR
128 Eh 10.9 17.9 — 21.0 9.0 BE kER-h| &|R
2 Eh 13.5 175 - 19.0 10.0 BE k-] ER
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
=%lE] 1.8~83] 715LLE | 20LLF | 1000LLF | FEiRH — —
B (75%IE) - 8.2 1.5(1.7) - <0.5 0.17 0.017
4H == 8.1 8.5 11 = <0.5 0.21 0.031
hE - - - - - - -
65 =B 8.0 7.8 1.7 - <0.5 0.18 0.011
8.2 7.6 1.9 - <0.5 - -
G . N — ; : ; 7 5
8.1 8.3 1.2 - <0.5 0.14 0.009
10A ;E ~ = = — — — =
8.1 8.9 1.7 - <0.5 0.14 0.015
128 ;E ~ ~ =~ — — — —
8.0 8.3 1.2 - <0.5 - -
2R E = - . — = — —
BEEE (REBDHEHA)
NP INIESDY & & Ao L IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FEH | 0018LTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - -
ooroni| mie [1,2->700] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
"y B®R IRy IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B #(E] 0.02LLF | 000260 F | 0.004LLF | 0.02LLF [ 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8A - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - -




FrS40a(1,3-24n — . —paee FAARL Sa s .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| H#E{E] 0.01LLF [0.002L0F [ 0.006LLF | 0.003LLF | 0.02LLF 0.01LLF 0.01LLF 10LLF
| FEHE - - - - - - - -

478 - - - - - - - -
68 - - - - - - - -
8H - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Bl - - - - - - - -
ZTDHIEE
Iz/—) i SS 2ER |soofkus| s
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TR : ; : : :
=B - - 1 - - -
—_ —_ 2 —_ —_ —_
6 ﬁ ;E _ _ _ _ _ —
—_ —_ 3 —_ —_ —_
8 ﬁ ;E _ _ _ _ _ —
—_ —_ ‘I —_ —_ —_
10A ; E — — — — — —
—_ —_ <1 —_ —_ —_
124 ; E — — ~— — — —
—_ —_ <1 —_ —_ —_
2R i — — = — — —
Bl | BEEE ) ome
(mg/1) (mg/1) (mg/1)
EHIE| 19000 - 0.01
EE] 19000 - 0.01
19000 - <0.01
18000 - -
18000 - <0.01
10A ; E ~ — =
19000 - 0.01
124 ; E ~ — ~
20000 - -
2R i = — —



THRISEE

AL C LK
B COD¥EE! | A(##BIA) i b e
]]
R St.2 e EXR-BEE —
—iRIEH _
KB (°C)
1 _XE [KE(CC) =B hE 2IKiR A Fiin 18 R
48 Eh 16.8 15.7 - 18.0 4.5 BE kER-th| &|E
68 B4l 23.3 20.5 — 22.0 6.0 BE kER-h| E|R
8A £ 24.6 24.6 - 18.0 10.0 BE kER-h| E|R
108 Eh 23.3 23.4 - 18.0 5.0 BE kER-E| BR
128 Eh 10.9 17.6 — 19.0 7.5 BE kER-h| &|R
28] Bh 13.1 175 - 18.5 95 BE | FRe-h) &S
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
=%lE] 1.8~83] 715LLE | 20LLF | 1000LLF | FEiRH — —
B (75%IE) - 8.3 1.5(1.7) - <0.5 0.17 0.014
4H == 8.1 8.2 1.2 = <0.5 0.19 0.017
hE - - - - - - -
65 =B 7.9 8.1 15 - <0.5 0.23 0.012
8.1 7.5 1.7 - <0.5 - -
G . S — ; : ; 7 5
8.1 8.3 1.3 - <0.5 0.12 0.009
10A ;E ~ = = — — — =
8.1 9.0 1.7 - <0.5 0.15 0.017
128 ;E ~ = =~ — — — —
8.0 8.4 1.6 - <0.5 - -
2R E = = = — = — —
BEEE (REBDHEHA)
NP INIESDY & & Ao L IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#fE] 001LLF | FEEH [ 0018LF [ 00580 F | 001LLF [0.0005L0F| FE#EH JERRH |
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
28l - - - - - - - -
ooroni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,12-ry4a | F)S00A
"y B&R IRy IFLY oaITFLY oT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF [0.002u0F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8A - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
28l - - - - - - - -




TEZORRILETZE #osa | vy | TAY | moby | bl [MRERERS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/I) (mg/I)
: g g
_%éfﬁ 0.01LLF [0.00251F | 0.0065LF | 0.003ELF | 0.025LF | 0.01LLF | 001LLF | 10LLF
2Bl - - - - - - - -
6B - - - - - - - -
sE| - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
28 - = = = = - - -
ZTDhIFH
Iz/—) i SS 2ER |soofkus| s
5 (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
THEl - = 2 = = -
2R | - - < - - -
48
o | - - - - - -
RE - - 3 - - -
6 ﬁ ;E _ _ _ _ _ —
—_ —_ 2 —_ —_ —_
—_ —_ ‘I —_ —_ —_
10A ; E — — — — — —
—_ —_ 2 —_ —_ —_
128 o - — = — = =
2A 2R - S - - -
i iggﬁ Ry
——— e e
=E 19000 = 2001
48
tE | - - -
oA fg 18000 = 001
A %=E 18000 = =
S : I
10A 18000 = 001
b= - - -
12A fg 19000 = 0.01
2 %= 20000 = =
hE | - - -



THRISEE

BA L CILHKE
Bmm COD#ER! |A(H#S) P 3 e
Mh R A EZEid] 5
St.3 EXR-HEY — -
—i%IEH _
K& (°C)
1 _XE [KE(CC) =B fE 2 KE A Fiin 18 B&
48 Fh 18.3 16.5 - 22.0 5.5 BE keaf-h| &|S
64 Eh 23.2 20.7 — 19.0 45 BE kEf-h mR
8A =) 26.0 24.7 — 19.0 10.0 BE kEf-h |
108 B4l 22.9 23.2 — 20.0 5.0 B kEaf-E| &R
128 Eh 114 17.8 — 19.5 75 BE kEf-h |
28 Eh 14.6 17.6 - 16.0 12.5 EE | Hikf-h| &R
4RIRIRIBER _ _
oH DO CcoD KIBEERY In-~FHof 22% i
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
RG] 7.8~83] 75LLE | 20LLF | 1000LLF | JERH — —
EHE(75%ME) - 8.1 1.4(1.6) 0.0 <0.5 0.15 0.013
4H =B 8.1 8.6 1.0 - <0.5 0.18 0.018
b= - - - - - - -
65 =B 8.0 7.4 1.3 0.0 <0.5 0.17 0.010
8.1 7.4 1.7 - <0.5 - -
8.1 8.3 14 0.0 <0.5 0.10 0.008
10A ; E ~ = = = — — =
8.1 9.0 1.6 - <0.5 0.14 0.016
128 ; E ~ = = — — — —
8.0 8.1 15 - <0.5 - -
2
BEEB (RBDHEHHA)
NI INIEDS ET) i f7 A=A T Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E] 001 LT | e | 001LLF | 0.05L0F | 0.01LLF 10.0005LLTF | JE#EH JEtRH |
E{E]  <0.002 - <0.005 <0.02 0.001 <0.0005 - -
48 - - - - - - - -
68| <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
8AH - - - - - - - -
108] <0.002 - <0.005 <0.02 0.001 <0.0005 - -
128 - - - - - - - -
2Al - - - - - - -
vonnoi | miEk [1,2-0900( 1,1-Syan [Yzx-12-4(1,1,1-k)58] 1,12-Fy 50 | FUS0O0
sy B THY IFLy | BAIFLY | AIAY Axsy | IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E] 0.02LLF [0.0020F | 0.004LLTF | 0.02LLF | 0.04LLF 1LUF 0.006LLF | 0.03LL'F
EfE]  <0.002 ] <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
48 - - - - - - - -
68| <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8A - - - - - - - -
108] <0002 | <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
;1 I - - - - - - -




FhS40n(1,3->4n = N FARY T . HRMEERERU
IFLy |praxy| FI34L | vIPY LI _RoEy LY ERREER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 001LLTFT [0.0020F [ 0.006LLF [ 0.003LLTF | 0.02LLF | 0.01LLF | 001LLF 10LLF
| EHE]  <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
478 - - - - - - - -
68| <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
8AH - - - - - - - -
108] <o0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
128 - - - - - - - -
2A - - - - - - -
ZTDHIEE
Jx/—) & ss 2@ |vooknn| A,
ZILTER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EIHE - - 2 0.006 - -
EE] - - < - - -
4ﬁ ;E _ _ _ _ _ _
—_ —_ 2 —_ —_ —_
S 7 - - ; : - -
- - 2 0.006 - -
ST, - ; - - -
—_ —_ <1 —_ —_ —_
10A ; E — — - — — —
—_ —_ 2 —_ —_ —_
128 ; E — — = — — —
—_ —_ <1 —_ —_ —_
2
Bkt | EINERE . .
(mg/1) (mg/1) (mg/1)
SEI9TE| 19000 <0.01 0.01
=B 18000 - <0.01
4ﬁ ;E _ _ _
18000 <0.01 <0.01
18000 - -
18000 - <0.01
10A ; E ~ — =
19000 - 0.01
128 ; E ~ — —
20000 - -
2



THRISEE

AL C LK
B COD¥EE! | A(##BIA) i b e
]]
R St.4 e EXR-BEE —
—iRIEH _
K& (°C)
1 _XE [KE(CC) =B fE 2 KE A Fiin =Xz R
48 Eh 16.6 16.2 - 19.0 5.5 BE Shkfa-h| ER
68 B4l 22.3 20.7 — 22.0 6.5 BE kER-h| E|R
8H £ 26.4 24.5 - 22.0 8.0 BE kER-h| E|R
108 EAL 22.3 23.2 — 23.0 5.0 BE kER-E| BR
128 Eh 10.4 18.7 - 22.0 9.5 BE kER-h| &|R
28] Bh 15.1 17.7 - 18.0 12.0 BE | FRe-h) &S
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEIE| 78~83| 75LLF | 20LLF | 1000LIF | JEietH — —
EHE(75%IE) - 8.2 1.4 - <0.5 0.15 0.013
4H == 8.2 8.6 1.0 = <0.5 0.16 0.015
hE - - - - - - -
65 =B 8.0 7.7 1.6 - <0.5 0.17 0.011
8.1 7.5 1.9 - <0.5 - -
G . S — ; : ; 7 ;
8.1 8.3 1.3 - <0.5 0.11 0.010
10A ;E ~ = = — — — —
8.1 8.9 1.8 - <0.5 0.15 0.016
12AH ;E ~ ~ = — — — —
8.0 8.2 0.8 - <0.5 - -
2R E = - = — = — —
BEEE (REBDHEHA)
NP INIESDY & & Ao L IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FEH | 0018LTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
28l - - - - - - - -
oroni| mie [1,2->700] 1,1-C4an [Lz-1,2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
"y B&R IRy IFLY oaITFLY oT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF [0.002u0F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8A - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
28l - - - - - - - -




FrS4H00(1,3-4n - . sea FAAL R .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 001LLF [0.00221F [ 0.006LLF | 0.003LLF | 0.02LLF | 0.01LLF | 001LLF | 10LLF
EF_EE — — — — — — — —

a8 - - - - - - - -
6A[ - - - - - - - -
sA[ - - - - - - - -
10A] - g g g - - - -
12A] - g g g - - - -
28 - - - - - - - -
ZOHEE
IT/— Vi SS LW | yOOkILA Tﬁ’_‘_’r,ﬁp
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EIHE - - 2 - - -
=RE - - 4 - - -
—_ —_ 2 —_ —_ —_
—_ —_ ‘I —_ —_ —_
—_ —_ <1 —_ —_ —_
10A ; E — - — _ _ -
—_ —_ <1 —_ —_ —_
12AH ; E — — ~— — — —
—_ —_ <1 —_ —_ —_
28 —2E - - s - - -
i iggﬁ Ry
(mg/1) (mg/1) (mg/1)
SEI9TE| 18000 - 0.01
=B 17000 = <0.01
18000 - <0.01
17000 - -
18000 - <0.01
10A ; E ~ — =
19000 - 0.01
12AH ; E ~ — ~
20000 - -
28 —2E 0 - -



THRISEE

A L C LK
B COD¥EE! | A(##BIA) i b e
]]
% St.5 e EXR-BEE —
—iRIEH _
K& (°C)
1 _XE [KE(CC) =B fE 2 KE A Fiin =Xz R
48 g 17.8 16.60 - 22.0 4.5 BE Shkfa-h| ER
68 Eh 22.7 21.00 - 16.0 5.0 BE kER-h| E|R
8A 1)) 25.8 24.50 - 13.0 7.0 BE kER-h| E|R
108 Eh 22.8 23.20 - 21.0 4.5 BE kER-E| BR
128 Fh 11.7 18.90 — 20.0 10.0 BE kER-h| &|R
28l ®Bh 14.8 17.70 - 18.0 11.0 BE | FRe-h) &S
4FIRIEIER _ _
oH DO COD | XBEEY n-~AXY o 2BFH EX ]
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEIE| 78~83| 75LLF | 20LLF | 1000LIF | JEietH — —
B (75%IE) - 8.2 1.4(1.8) - <0.5 0.15 0.011
4H == 8.2 8.9 1.0 = <0.5 0.12 0.012
hE - - - - - - -
65 =B 8.0 7.6 1.7 - <0.5 0.17 0.012
8.2 7.5 1.8 - <0.5 - -
G . N — - : ; 7 ;
8.1 8.2 1.4 - <0.5 0.12 0.010
10A ;E ~ = = — — — —
8.1 8.9 1.8 - <0.5 0.20 0.010
12AH ;E ~ ~ = — — = —
8.0 8.2 0.8 - <0.5 - -
2R E = - = — = — —
BEEE (REBDHEHE)
NP INIESDY & & Ao L IS Mk |(7rxLKkiB| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| B#(E] 001U | FEH | 0018LTF | 005LLF | 001LLF [0.0005LLF | FEHRH JERRH |
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8AH - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - -
ooyoni| mie [1,2->700] 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
Ay &R IAY IFLY oaITFLY oIT4y o4y IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 0.02LLTF [0.002u0F [ 0.004LLF [ 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EF_EE — — — — — — — —
478 - - - - - - - -
68 - - - - - - - -
8A - - - - - - - -
108 - - - - - - - -
128 - - - - - - - -
2Al - - - - - - -




FrS4H00(1,3-4n - . sea FAAL R .

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#(E] 001LLF [0.00221F [ 0.006LLF | 0.003LLF | 0.02LLF | 0.01LLF | 001LLF | 10LLF
EF_EE — — — — — — — —

a8 - - - - - - - -
6A[ - - - - - - - -
sA[ - - - - - - - -
10A] - g g g - - - -
12A] - g g g - - - -
28 - - - - - - - -
ZOHEE
IT/— Vi SS LW | yOOkILA Tﬁ’_‘_’r,ﬁp
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EIHE - - 2 - - -
T - - 1 - - -
—_ —_ 4 —_ —_ —_
—_ —_ 2 —_ —_ —_
—_ —_ ‘I —_ —_ —_
10A ; E — - — _ _ -
—_ —_ ‘I —_ —_ —_
12AH ; E — — — — — —
—_ —_ <1 —_ —_ —_
28 —2E - - s - - -
i iggﬁ Ry
(mg/1) (mg/1) (mg/1)
SEI9TE| 19000 - <0.01
=B 19000 = <0.01
19000 - <0.01
17000 - -
18000 - <0.01
10A ; E ~ — =
19000 - <0.01
12AH ; E ~ — =
20000 - -
28 —2E 0 - -




THRISEE

BA L CILHKE
BimiE CODME®! |B(HE#H) BSiEER
s | 5
St.6 EXR-HEY — -
—i%IEH _
K& (°C)
1 _XE [KE(CC) =B fE 2 KE FERE Fiin =Xz B&
48 Eh 19.1 16.2 - 9.0 3.5 BE k-t &R
68 N 22.6 20.9 — 9.0 35 BE kaf-h| &S
8A £l 25.8 245 — 11.0 6.0 BE kEf-h |
108 Fh 23.1 23.3 - 10.0 35 BE kEaf-E| &R
128 Eh 11.7 17.6 - 95 5.0 BE kaf-h| &|S
28| fEh 14.8 17.2 - 10.0 7.0 K = el ol B
4RIRIRIBER _ _
oH DO CcoD KIBEERY In-~F oo 22F i
(mg/1) (mg/1) | (MPN/100mD) | H¥9 & (meg/1)|  (mg/1) (mg/1)
EEIE| 7.8~83] 50LLE | 30LLF — R — —
EHE(75%E) - 8.3 1.7(1.8) - <0.5 0.15 0.016
4H =B 8.1 8.9 1.3 - <0.5 0.15 0.014
b & - - - - - - -
65 =B 8.0 8.3 1.6 - <0.5 0.13 0.011
8.1 7.3 2.0 - <0.5 - -
8.1 8.1 15 - <0.5 0.15 0.018
10A ; E ~ ~ = — — — —
8.0 8.8 1.7 - <0.5 0.16 0.02
128 ; E = — =~ — — — —
8.0 8.2 1.8 - <0.5 - -
2
BEEB (REBDAEHR)
NI INIEDS ET) i T A=A T fikER |7L¥LKER| PCB
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E#E{E] 001LLTF | JE#H | 001LLF [ 0.05LLF | 0.01LLF [0.0005LLF | JEHH JEtRH |
EfE]  <0.002 = <0.005 <0.02 0.001 <0.0005 = =
48 - - - - - - - -
68| <0.002 - <0.005 <0.02 <0.001 <0.0005 - -
8A - - - - - - - -
108] <0.002 - <0.005 <0.02 0.001 <0.0005 - -
128 - - - - - - - -
28 - - - - - - -
ooroni| mie [1,2->700]( 1,1-C4an [Lz-1.2-C4|1,1,1-M)H0] 1,1,2-ry4a | RSO0
sy B THY IFLy | BAIFLY | OIAY Axsy | IFLY
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
[ E#E{E] 0.02LLTF [0.0020F [ 0.004LLF | 0.02LLF | 0.04LLF 1LLF 0.006 LA F | 0.03LLF
EH{E]  <0.002 [ <0.0002 ] <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
48 - - - - - - - -
68| <0002 [ <0.0002 | <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
8A - - - - - - - -
108] <0002 | <0.0002 [ <0.0004 <0.002 <0.004 <0.01 <0.0006 <0.003
128 - - - - - - - -
28 - - - - - - -




FhS40n(1,3->4n = N FARY T . HRMEERERU
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| BLAE(E] 0.01LLF | 0.00250F | 0.006LLF | 0.003LLF | 0.02LLF [ 0.01LLF [ 0.01LLF [ 10LLF |
| EHE]  <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.02
48 - - - - - - - -
68| <0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 <0.01
8A - - - - - - - -
108] <o0.001 <0.0002 | <0.0006 <0.0003 <0.002 <0.001 <0.001 0.02
128 - - - - - - - -
2A - - - - - - -
ZNhIEH
Jx/—) & ss 2@ |vooknn| A,
ZILTER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EIHE - - 1 <0.005 - -
=B - - 1 - - -
4ﬁ ;E _ _ _ _ _ _
—_ —_ 1 —_ —_ —_
S 7, - : ; ; - -
- - 2 <0.005 - -
8 ﬁ ;E _ _ _ - _ —_
—_ —_ <1 —_ —_ —_
10A ; E — — - — — —
—_ —_ 1 —_ —_ —_
128 ; E — — — — — —
—_ —_ <1 —_ —_ —_
2
Biey | ENE . .
(mg/1) (mg/1) (mg/1)
SEI9TE| 19000 <0.01 0.01
=B 19000 - <0.01
4ﬁ ;E _ _ _
19000 <0.01 <0.01
18000 - -
18000 - <0.01
108 ; E ~ — =
19000 - 0.01
128 ; E ~ — —
20000 - -
2



